N = 0l & At & Ml A

M S
M nsSdd He
I HSUSHHA &4 (Sl & &)

x 5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 91,629,969 45,514,145 46,115,824
= 32,957,637
s 28,588,000
J| 4,439,000
N 72,000
= 25,573,332
nsHEH A 34,661,537 31,526,018 3,135,519
=2 1,157,637
s 9,758,000
J| 4,439,000
< 19,306,900
s MUl A &at 21,083,959 18,113,368 2,970,591
= 1,104,962
= 8,813,000
J| 4,439,000
< 6,726,997
sws AMHIA e 417,416 1,285,794 A 868,378
201 Let24d] 3,500 3,500 0
01 At 22l 3,500 3,500 0
ollsns B AMHAZ =& 3,500
202 O4dl 29,750 35,000 A5,250
01 = LH 4 Hi 29,750 35,000 A5,250
otzns 23 &« N3ZUIAMY SXlEol 10,200
O & stEksI 2AME N 19,550
207 & O & H| 86,000 60,000 26,000
01 2284 86,000 60,000 26,000
OHA2EAY 2H AlBAHE =8 2249 36,000
Ousi 0lsEH2 s NEHE =8 S 50,000
308 MtXIEHSOIH 45,000 325,686 A 280,686
01 X HHILEES 45,000 325,686 280,686
OL-=EAl =J| HxtdlE X2 45,000
403 X SHHSA=0l& 253,166 861,608 A 608,442
01 HIXSHMA=2E X 253,166 861,608 A 608,442
OWAMUTSXEHDE SZMA 173,000
OEAl otEAH AX| 2,916
OBHEEAl 43t 77,250
HAaHA TUEE(=1) 773,060 735,740 37,320
= 594,662
< 178,398
403 X SHHE =0l & 773,060 735,740 37,320
= 594,662
< 178,398
01 XM A=2E X 773,060 735,740 37,320




2AMd: DS
M DsHE A
el s nsSMHIA & (&)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OM&AHA SAEX 773,060
= 594,662
< 178,398
SHus4+H TUBE(Z1) 327,600 315,000 12,600
= 252,000
= 75,600
403 MtXISHHE X201 E 327,600 315,000 12,600
= 252,000
< 75,600
01 AXSHMA=2EE 327,600 315,000 12,600
OEBus+== & 327,600
= 252,000
< 75,600
CAE RnERY(S2E =HANZ21) 917,700 802,000 115,700
s 351,000
< 566,700
308 MtXIEHSOIH 917,700 802,000 115,700
s 351,000
< 566,700
01 HXNHHBHELS 917,700 802,000 115,700
OsHEXND 5 LEHAI(Al) 917,700
o 351,000
< 566,700
SEE NS (S3F =€AN21) 1,336,100 1,315,000 21,100
s 551,000
= 785,100
308 XXM SO0 A 1,336,100 1,315,000 21,100
s 551,000
S 785,100
01 IXNHHBHNEES 1,336,100 1,315,000 21,100
OsHEXZ SIUEA(Z) 1,336,100
s 551,000
< 785,100
Al ZXEAAY(=D) 156,000 195,000 239,000
= 156,000
308 XXIEHHSOIA 156,000 195,000 A 39,000
= 156,000
01 AXHHBILEES 156,000 195,000 239,000
O AIZ X K& 156,000
= 156,000
BAlRz ez K& 223,748 223,834 A 86
308 XX EHH SOl A 223,748 223,834 A 86
01 AXSHBLELS 223,748 223,834 A 86
OHANRS ItE+x2 XN 223,748




2N
X ZH -
L= B

el

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2

Z2AT SEUESE 2HRA(2) 4,439,000 3,085,000 1,354,000
| 4,439,000

201 €2l 24,706 24,500 206
J| 24,706

01 At 22l 12,100 12,000 100
ORIRE =8 ¥ SEUSH 2F B 12,100
| 12,100

02 =224l 12,606 12,500 106
OZ9A0IsXNJdEH HdotR= 12,606
| 12,606

307 2201 A 900,474 692,500 207,974
J| 900,474

05 BIZERIE 3 900,474 692,500 207,974
OZYA0ISANAHEH RAE2EHI 900,474
| 900,474

308 XXM SO0l A 3,513,820 2,368,000 1,145,820
| 3,513,820

01 IXNHHBNEES 3,513,820 2,368,000 1,145,820
OANZ S8usS=tt 23 X& 3,513,820
J| 3,513,820

SANE nERY(23E HA (=) 2,730,000 3,150,000 A 420,000
s 2,100,000
< 630,000

308 XtXIEHH SOl A 2,730,000 3,150,000 A 420,000
s 2,100,000
< 630,000

01 IXNSHHMEBAMNEES 2,730,000 3,150,000 A 420,000
OZAE nNs2d (338 HA) 2,730,000
= 2,100,000
< 630,000

SEE NEY(S2E H2A)(=21) 4,290,000 4,950,000 A 660,000
s 3,300,000
< 990,000

308 XXM S0 A 4,290,000 4,950,000 A 660,000
s 3,300,000
< 990,000

01 AXNSGHBLAEES 4,290,000 4,950,000 A 660,000
OsZ8 WNs2d(22¢ HA) 4,290,000
s 3,300,000
< 990,000

HAZSEX DX XN (=1) 4,185,000 2,056,000 2,129,000
fay 2,511,000
< 1,674,000

403 XAXISHM S K201 A 4,185,000 2,056,000 2,129,000




2AMd: DS
M DsHE A
S HSnsSAHHA &4 (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
e 2,511,000
< 1,674,000
01 HIXSHMA2E X 4,185,000 2,056,000 2,129,000
OHAZSEXIXN K& 4,185,000
s 2,511,000
< 1,674,000
2YBISKIE (=1) 148,335 0 148,335
= 102,300
< 46,035
403 XIS E X201 & 148,335 0 148,335
= 102,300
< 46,035
01 AXSHHMA2E = 148,335 0 148,335
OZ4BISXIA 148,335
= 102,300
= 46,035
ZEUHI9 o2 2L =5 B2 1,140,000 0 1,140,000
201 £B-2dH| 1,140,000 0 1,140,000
01 At 22l 1,140,000 0 1,140,000
ORZ2ULH9 o2 2R =& 89 1,140,000
thaws MEXZ 13,213,600 12,768,000 445,600
s 945,000
< 12,268,600
AMAHAZ2ESAMYE HEXR 5,930,000 6,146,000 A 216,000
307 glz2+ol & 5,930,000 6,146,000 A 216,000
09 2HAHAEXS 5,930,000 6,146,000 A 216,000
OANMAHA2ESAIY THE XA 4,400,000
OANAHA 23ALAM Z2H2H WA XA 1,530,000
MU - sHEHA2SAIE HEXE 5,542,600 5,602,000 A59,400
308 A EHHSOIA 5,542,600 5,602,000 A 59,400
01 HXNHHBHELS 5,542,600 5,602,000 A 59,400
OANU - sHEHA2SAY HEXA 4,900,000
OAU - SHEHA 23ALL 220H A WA
A& 642,600
Bl &ABA(ZD) 1,545,000 600,000 945,000
s 945,000
< 600,000
308 X EHHSOIA 1,545,000 600,000 945,000
s 945,000
< 600,000
01 HIXNHHBNEES 1,545,000 600,000 945,000
OYHALH &AZ4 1,545,000
s 945,000
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2AMd: DS
M DsHE A
Sel: DEAD 00| AMEZ CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 15,803
403 MtXISHHSA=0l& 68,478 133,250 AB4,TT2
= 52,675
< 15,803
01 XM A=2E X 68,478 133,250 NB4,TT2
OAEE XY HIdXNSHSEX &X X 68,478
= 52,675
< 15,803
WESHEEA A 56,935,000 13,949,600 42,985,400
= 31,800,000
s 18,830,000
EN 72,000
< 6,233,000
WEAEAIL &= 56,935,000 13,949,600 42,985,400
= 31,800,000
s 18,830,000
EN 72,000
< 6,233,000
WESUTAIE 2= & FHUAY 97,000 190,000 A 93,000
EN 72,000
< 25,000
403 MtXISHHE X201 & 97,000 190,000 A 93,000
N 72,000
< 25,000
01 AXSHMA=2EE 97,000 190,000 293,000
OULSCHEANE 2= 72,000
EN 72,000
ONE 0l nSATAIE &X 25,000
HEelolBs3e HEaAME(Z)(=2) 720,000 1,110,000 A 390,000
s 360,000
< 360,000
401 A& HIZ 201 Y] 720,000 1,110,000 A 390,000
s 360,000
= 360,000
01 A& HI 720,000 1,110,000 A 390,000
ooglolEs+Y A 720,000
s 360,000
< 360,000
HE0IES 7Y HAMS(AIZ)(2D) 2,410,000 1,311,000 1,099,000
s 2,410,000
403 XIS S X201 & 2,410,000 1,311,000 1,099,000
s 2,410,000
01 X SHHX2E= 2,410,000 1,311,000 1,099,000
O0eolEs+9Y e 2,410,000
s 2,410,000




2AMd: DS
M DEoMHY WA
9l DSUTAL BB (29 a8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
LoEs Y HEAE(Z)(=22) 440,000 190,000 250,000
s 220,000
< 220,000
401 Al HI K 201 I 440,000 190,000 250,000
s 220,000
< 220,000
01 A& Bl 440,000 190,000 250,000
LoES A9 e 440,000
s 220,000
< 220,000
LoEs2Y NEAE (M) (=1) 130,000 55,000 75,000
as 130,000
403 X SHHE A0l & 130,000 55,000 75,000
s 130,000
01 XM AZ2EE 130,000 55,000 75,000
OLQEs+d HH 130,000
s 130,000
XNXH ITS 25 XN (=1) 33,920,000 1,956,000 31,964,000
= 31,800,000
< 2,120,000
403 XIS E X201 & 33,920,000 1,956,000 31,964,000
= 31,800,000
< 2,120,000
01 AXSHMA2E = 33,920,000 1,956,000 31,964,000
OX XA ITS = X& 33,920,000
= 31,800,000
< 2,120,000
FIEE HEAE (2 2) 12,968,000 8,993,600 3,974,400
s 9,460,000
S 3,508,000
403 MHXSHHSA=0l& 12,968,000 8,993,600 3,974,400
s 9,460,000
< 3,508,000
01 HXSHMA2E X 12,968,000 8,993,600 3,974,400
O=xt&d M 12,968,000
s 9,460,000
< 3,508,000
HEloIES 7Y ROLNESHEEH S AXI(HAHE)( 6,250,000 0 6,250,000
=2)
s 6,250,000
403 A X EHHSH20IA 6,250,000 0 6,250,000
s 6,250,000
01 XM A=E L 6,250,000 0 6,250,000
ooeolE2sxY RoNs=HEFEH S & 6,250,000
ras 6,250,000




2N 1S
M HH2IZH (nsS)
chelr D123l (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
HE2HHH (S) 33,432 38,527 25,095
Jl=34l 33,432 38,527 A 5,095
2A2Y JI23tl 33,432 38,527 A 5,095
201 Let24d] 23,676 25,747 22,071
01 At 2teltl 23,676 25,747 A2,071
ENA2Y ARl 23,676
202 O4dl 6,156 9,180 A 3,024
01 =S LHAYI 6,156 9,180 N 3,024
ORM2E =W 6,156
203 R =&Yl 3,600 3,600 0
04 FN2ELSFAH 3,600 3,600 0

©20¢! Ol ot 3,600






